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GROUP - A

Multiple Choice Questions (a'gﬁwchtr 09T )-

1. oREIHT & TH AR & I=d Al BT ol fhar STrar & (Under the Cash Basis
of Accounting, expenses are recorded) :
a) A f&y S W (On Payment)
b) =@ <1 8 W (On Expenses being due)
c) T & @18 T8 (None of these)
2. 99e @rar © (Realisation Account is a) :
a) wfhera wrar (Personal A/c)
b) ar<fds w@rar (Real A/c)
c) A @rar (Nominal A/c)
d) s & @1E &l (None of these)

3. Ry &1 Yod AN | JARNE Jed / FHfRy &1 srgAd Sudrh Siled = (Original cost
of assets less Scrap Value / Estimated useful life of asset = ?)
a) < (Profits)
b) = (Loss)
c) @& (Depreciation)
d) Wit & geu ¥ gy (Increase in the value of assets)
4, TRGIHT D IUMS MR & I AT BT oi@l far Siar g (Under the accrual
basis of Accounting, expenses are recorded) :
a) YTaE f&d S W (On Payment)
b) =1 < 8 W (On being incurred)
c) ‘a’vd ‘b’ =mi (‘a’ and ‘b’ both)
d) s 9§ ®1E 71 (None of these)
5. Il RO Hd AT gl 87 (When the Concept of Realisation is Applied ?)
a) o9 <RI ¥ Adws urd Bkt & (When cash is received from debtors)




b) i@ uEdl B AT B Fgadl @ < ikl & (When goods are delivered to the
customers)

c) <& urEdl W R Ut 8 (When order is received from debtors)

d) Suwyh ¥ & ®ig 78 (None of the above)

6. IATT BT W TG T D (T IMERV B BH & AF—Y [Ia=or § enfier a=ar
2, gargy e Ryer @) srage=r @1 TA? (The proprietor of the firm includes the
amount of drawings in the income statement of the firm, says, which convention is
avoided?)

a) orra raurer (Cost Concepts)

b) wdq =@awr s@grem (Going Concern Concept)
c) wr srggron (Entity Concept)

d) wfearsl wer (Conservative Convention)

7. A—F AT AR A @ (Income and Expenditure Account is prepared by):

a) 3ramvaRT e (Not-for profit organisation)
b) =gade G (Business entity)

c) sienfre s (Industrial entity)

d) SWiaa # ¥ &3 78 (None of the above)

8. TR g7m W & d& ¥ farferdn ARER BT M ofl-
(In Garner Vs. Murray case, the name of insolvent partner was):
a) R (Garner)
b) faafe=a (Wilkins)
c) ™ (Murray)
d) <res (Ronald)

9. TIFTd ¥RUT &1 M & (Cost Concept Means) :
a) oNTd Hog WR g% &1 faha (Sale of goods at C.P.)
b) IR Feu W 9% @1 fasha (Sale of goods at M.P.)
c) “F—<Al & gEDl H dF e R ol & (Recording of transactions in the
books of accounts at cost price)
d) s7 & @1g T8 (None of these)
10.=99r Ra@ g &7 3ref & (Business Entity Concept means) :
a) EHR BT 3T AR (Separate existence of business)
b) e 3R =gawrlt e AT (Business and Businessman together)
c) IR 3R #ereiF U AT (Business and Creditor together)
d) =adr &R %ol va @rer (Business and Debtor together)
11.71 @UR & URON & IJJAR AAIS Sdbrg 3IRkad 4 e (According to Going
Concern Concept, the business entity will be in existence):
a) 3ff¥=d @1 d (Indefinite Period)
b) i wu # (Permanently)
c) =Ry wu # (Temporary)
d) ff¥=a @rel d@ (Definite Period)
12.31fRT TF—<Al &1 o § 3ffWel@s & $HROT del fdbar simar & (Accounting does not
record non-financial transactions because of):
a) SursiH 3R (Accrual Concept)
b) rra sragrer (Cost Concept)
c) fR=a=ar sm@EReT (Continuity Concept)
d) HaT1 "9u= SrgErRem (Money Measurement Concept)




13.<raied g 2 (Accounting Standards are) :
a) +iforra ver (A policy document)
b) smarR wfear (A code of conduct)
c) (a) & (c) g™ (both)
d) g ¥ g =& (None of these)

14.<gied 999 U&wudl o 8 (Accounting Standards brings uniformity in) :
a) oRaiea Regur=i § (Accounting principles)
b) o= afgal % (Books of accounts)
c) (c)faxia faa=oli # (Financial statements)
d) 7 @t 7 (All of these)

15.31R—amiRe wvensii # <gdelil wR gRawfml & e &1 sed € (The excess of assets
over liabilities in non-trading concerns is termed as) :
a) Yot Ay (Capital Fund)
b) Usir (Capital)
c) < (Profit)
d) s & @1 7T (None of these)

16.7% T@@ gRT U< 3foilad Aewal Yo d fe@mr ol g (Life membership fees
received by a Club is shown in) :
a) 3m—= @rd 9 (Income and Expenditure A/c)
b) anfdf& forst # (Balance Sheet)
c) wiit sk ywra @ 7 (Receipts & Payments A/c)
d) =t # (In all)

17.8/8 &1 y9R 59 W 8l @ : (Depreciation is charged on :)
a) =gl wwufy (Current Assets)
b) e @Ry (Fixed Assets)
c) fafmm (Investments)
d) 7% ¥ @ & (None of these)
18.gcfl v ueufd # gr@ @ oMT @ il @ : (In Reducing balance method
depreciation is calculated on :)
a) @< g & W (Reduced value)
b) sf<m 2w w (Closing balance)
c) 9NR ¥ R (Market value)
d) urf® 2w o= (Opening balance)
19.398R YUTTell & 3T=iid ¥l @rdm 811 & (Branch Account under debtors system is) :
a) ar<dfas @ (Real Account)
b) =fdara w@rdar (Personal Account)
c) smarxad @ (Nominal Account)

d) s 9 @1E & (None of these)

20.@m few uweufd # g @ WRr (Under fixed instalment method, amount of
depreciation:)
a) el g (Goes on increasing)
b) Rer W& © (Remains constant)
c) gcdl g (Goes on decreasing)
d) s & @1g &l (None of these)



21.f5 aE Ueufd @ ol el SO WA &1 WY, Bl B GRadl # R@mr SwEr 8-
(Under the instalment system, the balance of Interest Suspense A/c, in the books
of buyer, is shown on the :)

a) M-8 W & A ueT # (On the debit side of Profit and Loss A/c)
b) emeEe fgr & <1 uer # (In the liability side of Balance Sheet)

c) ome® fagt & |HRT uer # (On the asset side of Balance Sheet)

d) s & @+ (All of these)

22.gidd 9919 399 forg s1fard g (Accounting Standards are mandatory for):
a) @w=1 (Companies)
b) wmERRY (Partnership)
c) TP ARl (Sole trading)
d) a1 <71 arel A (Charitable organisation)

23.u1ftq vd = @ § (Receipts and Payments Account is a) :
a) =fwra @rar (Personal Account)
b) arafd® @rar (Real Account)
¢) =mE= @rar (Nominal Account)

d) s & @1E 7Tl (None of these)
24.%9 & faged & wwy AforlRed wwufy & fassg & ura ¥ &7 @f$e fdar smar 21 (On the

dissolution of firm, an amount realised from unrecorded asset is credited to) :
a) @s @ H (Cash A/c)
b) yHw®a @i # (Revaluation A/c)
c) dgen @l # (Realisation A/c)
d) s & @18 &l (None of these)
25. fF M YUl & oia fasdhar §N W @ A B o fBar S 21 (In case of
instalment system, total interest receivable by the seller is credited to :)
a) =1 99w 9 # (Interest Suspense A/c)
b) =< @ # (Interest A/c)
c) fawa @rd # (Sales A/c)
d) s & ¥+ (All of these)

26.%4 @I AR fdar Simar &, 919 (Deficiency account is prepared, when) :
a) U® wERER fearfear 8 (One partner is insolvent)
b) =1 wrEER fearferar 8 (Two partners are insolvent)
c) @l wseR fearferar & All partners are insolvent)
d) swa & w15 78 (None of these).
27. 39 IR GHI OI9 Sl FHRT BT Sfie Fxar @ a1 wwRy @rar 9efid @xar 21 (When the
buyer debits the asset at the time of signing the contract, asset A/c shows balance.)
a) B APHs & $ _ER (Equivalent to total cash price)
b) a1 fwd o9 @& aveR (Equivalent total instalment price)
c) (a) 3R (b) TFi ( (a) and (b) both)
d) 7% & &1 =& (None of these)

28.4f% IAT 7 YU BRI & UEd 9 9 a9d fhd § a1 (Ve drfer @ graat ) (If the

branch has collected money from a customer of the head office, then (in the head
office books) which the remittances were made) :




a) ¥ @A ®I wfec fhar smar € (Branch Account is credited)
b) wmEr @ &1 Sfde faar siar & (Branch Account is debited)
c) <9 eRi & @ &l Sfde fdar sar @ (Debtor’s Account is debited)
d) s & @1g 78 (None of these)
29.°G1HA © | (Accounting is) :
a) u& fa= (A Science)
b) & @ (An Art)
c) <+ (Both)
d) s7 & @18 T8 (None of these)
30.9%UTel & H&F Ieed © (The main objectives of Book-keeping are) :
a) oF—<Ai &1 qof aeres (Complete recording of transactions)
b) @mew R fa<ig gvmdi @1 fAgRer (Ascertainment of financial effect on the
business)
c) 3ifdsi @1 faveiyor derr fea (Analysis and interpretation of data)
d) (a) iR (b)=Mi ((a) and (b) both)
3151 @ o 59w R @1 Wi § ? (Depreciation is calculated on which price?)
a) J@e g7 (Cost Price)
b) 9k g (Market Price)
c) fama 7 (Sales Price)
d) s & @1 7Tl (None of these)

32.0R91G- GAARH BT SUIRTHAT diF el =7 (Who is not user of accounting
informations ?)
a) faea (Investors)
b) vrerar (Lenders)
c) =™ (Owners)
d) srgaws (Minors)
33,3 o ¥ I g @ Won A "9 Sfde far SEm (Goods sent by branch A to B,
will be debited to):
a) wm@r ¥ @ ¥ (Branch B)
b) wam ‘o1 @ # (Branch A)
c) uu™ dratery @Wrd H (Head Office)
d) 37 & @18 781 (None of these)

34.9f@ &1 A &1 P 8 (Payment of Honorarium to Secretary is treated as) :
a) Ysirra =33 (Capital Expenditure)
b) 3smaerd @ (Revenue Expenditure)
c) e =¥ (Cash Expenditure)

d) s & ®1E &l (None of these)

35.T"R 79 | & a1 &1 977 @9 f&ar mar o=1? (When was the decision of Garner Vs.
Murray case given ?)
a) 1990
b) 1903
) 1803
d) 1890



36.3fC7 U9 T KON B UEHE B BH H W O fdgcd @ WHI Rd fhar S g
(Provision for bad and doubtful debts appearing in the books at the time of
dissolution of firm is transferred to) :

a) 9rERRI @ Yo @l # (Capital Accounts of the partners)
b) IeR @ # (Debtors Account)
c) U FoT @i # (Bad Debt Account)

d) a9l @ # (Realisation Account)

37. oi@idA # od fhd S © (Accounting record transactions in terms of )
a) a%g 9= % (Commodity units)
b) H&1 W& # (Monetary units)
c) Sd@red A=@ # (Production units)
d) s7 & @18 78 (None of these)
38.3feRad R &1 519 &9 & fged & ¥y idE far Srar € ar S9 Sfde fbar smar 2
(Unrecorded liability when paid on dissolution of a firm is debited to) :
a) <@ @ # (Liability A/c)
b) a¥el @t % (Realisation A/c)
c) WERERI & Yol @t 9 (Partners’ Capital A/c)
d) s & @1g T8 (None of these)
39.59 & BH &1 fJged g1 8 df 9EeRl & 98—l &1 deart giar @ (When a firm is
dissolved, profit or loss on realisation is shared by. the partners) :
a) xR (Equally)
b) @m—fawreE argura # (In the profit-sharing ratio)
c) Yoh U # (In the capital ratio)
d) s & @1 &l (None of these)

40.%9 & fdgcd w® TSl @ & A9 &7 <aRa f&ar S g (The balance left in the Capital
A/con dissolution of a firm is transferred to) :
a) 99t @ % (Realisation A/c)
b) @m—= @ # (Profit and Loss A/c)
c) ¥ @ % (Bank A/c)
d) s & ®1E &l (None of these)

GROUP - B
s -«

Short Answer Type Questions (&€ IO 92T )-

1. IR Tl T 82

What is a Not-for-Profit Organisation?

2. e WA veufa | MY ®I \EST ' 7



What do you mean by Instalment Payment System?

3. &1 9 3MMU R FHe &7 g1 T DI A=~ ugerfadl &1 = ford |

What do you mean by depreciation? Write the name of different methods of
charging depreciation.

4. TG A9 T 27 A= YR &) IRl &1 a5 o |

What is Branch Accounting? Write the name of various types of Branches.

5. ‘Ot Ud YA @I Ao I8l Bl Uh AR ®U © " §6 BT DI ARAT
BT |

Receipts and Payments Account is a summarised version of Cash Book.” Explain
this statement.

6. g1 fhd Hed 27 &H I & BRUN BT Joi BN |

What is depreciation? Discuss the causes of charging depreciation.

7. U WiEpfaeh AR & gRT FAR fbar w37 wifeq vd yarar @rer fHefeRad s—

The following is the Receipts and Payments Account of a Cultural Society:

Receipts and Payments Account Cr.
Receipts Amount | Payments Amount
(Rs.) (Rs.)
To Subscription:
2017 17,500
2018 1,05,000
2019 21,000 1,43,000

IrfafRn H\iFiTi" (Additional Informations) : °

(i) 9p1aT T=<T (Subscriptions outstanding) (31.12.2017) Rs. 21,000

(ii) g6 T=_T a9 2018 @ feTT (Subscriptions outstanding for the year, 2018)
(31.12.2018) Rs. 17,500

(iii) 31 ===T (Subscriptions received in advance) (31.12.2017) Rs. 21,000

SUYch FEIBH B AR W 31.12.2018 BT AATK BIH dlel ay & oy AR by &=
qrel I U4 I W & hiSc Uel H fa@rg S drell = @l R0 BT ITUET DITY
JoIT URM™S Td 3ff=a mfdies gt § T @1 i &1 fe@msy |

On the basis of the above information find out the amount of subscriptions to be
credited to the Income and Expenditure Account to be prepared for the year ended
31.12.2018 and also show how the relevant items of subscriptions will appear in
the opening and closing Balance Sheets.




8. Rs. 4,00,000 ST &7 U TN 1.1.2016 BT HI &I T | 10% HI X A HANTT g

eyl W g T Il 21 Rs. 1,00,000 ® AR @I #RA 31.3.2018 BT Rs.
80,000 # 9= <1 T3 | YA OIF 99 & forg 79 @rar TR & |
A machine costing Rs. 4,00,000 was purchased on 1.1.2016. The rate of depreciation
is 10% on diminishing balance method. A machine costing Rs. 1,00,000 was sold on
31.3.2018 for Rs. 80,000. Prepare machinery account for the first three years.

9. 31.12.2018 B |ATK 8 dTcl 9¥ & AR @< I [r=IfeiRad RN U< gg-

Subscriptions received during the year ending 31.12.2018 are given below:

Rs. Rs.
For 2017 & foq 500
For 2018 & fog 4,500
For 2019 & fog 375 5,375

T TR BT W@ 500 B, TAT TS FEH Rs. 10 Ufay &1 I F =T <@ 2|
2018 & URA™ ¥ 2017 & Rs. 600 IHRAT | 31 fA¥wR, 2018 BI FAG &I dlel
99 & foIU o Ud o @ # fe@E ST aTell g @) JIf31 &1 0T BT |
There are 500 members each paying an annual subscription of Rs. 10, Rs. 600
were in arrears for 2017 at the beginning of 2018. Calculate the income from
subscriptions for the year ending 31st Dec., 2018 to be shown in the Income
and Expenditure Account.

10.1 3¥idt, 2014 BT . X 7 z Svo&] ¥ e YA ygulad 4 b #eiiA
RN | I & FHA Rs. 8,000 UG Y AT BT YTAM 4 fhwl H Re.
5,000 TP 5% YT 99 15T & A1 UAP 98 31 fegwaR &l far o
o7 | R e T I 31.12.2014 BT T & | FHAA BT AHS G Re.
20,000 T |
Bl TSl I DI AT DI ITOAT N |

On 1st April, 2014 Mr. X purchased a machine from Z industries on instalment
system at time of Agreement Rs. 8,000. The payment was to be made in 4
instalments of Rs. 5,000 each plus interest at 5% p.a. on 31st Dec. each year. The
first instalment being payable on 31-12-2014. The cash price of the machine
was Rs. 20,000.

Calculate the amount of total interest suspense.

1131 9 1 e, 2015 BT AlCY AISfdhd WRIGI, Tha Jed Rs. 61,000 2 | %I e
YT Tedfd IR oM, ITge TR EXIER &¥d 99 Rs. 20,000 AR 1A 2 3R
$9® grg A9 9uf @ Rs. 15,000 YT T g i €| <aro1 5% Ui 9 B
A STRIT AT | 10% Ui a9 &1 &% A 1T 519 YlTell IR ST9 Pl 1T |
Hol TS DI I DI TUMAT 8y |
Amit purchased motor cycle on 1st January, 2015, the cash price being Rs.
61,000. The purchase is on the instalment system, Rs. 20,000 being paid on the
signing the contract and thereafter Rs.15,000 being paid annually for 3 years.




Interest was charged at 5% p.a. Depreciation was charged @ 10% per annum on
the fixed instalment system. Show the interest calculation regarding these
transactions.

12. BH & FH99 R 7 Semell # ued & forg smawad SiFd @ o difoTg—
(i) B4 @ gl Il FF BT YA X gRT fdhar 1|
(i) _gell I Rs. 1,000 BH F YA (AT STafd I AIRIGR X DI 8 BRAT
o fS9a oy SS9 FAT R =IA &I T8 Yo T W 5% HHed e S
o | FHRMEl ¥ Rs. 2,00,000 & 9Gell g5 AT MA@l BT Rs. 40,000 BT YT
foharm ¥ |
(iii) Rerfy fyaxor & @ d=g & g Rs. 20,000 AISE o |
(iv) fafder oM<R Rs. 15,000 & 1 578 2% @1 Skl R A fBar 1 |
Give Journal entries in each of the following alternative cases on the
dissolution of a firm:
(i) Realisation expenses paid by X on behalf of the firm,
(ii) Realisation expenses paid by the firm Rs. 1,000. However, the expenses
were to be borne by partner X for which he was to be given a commission of
5% on net cash realised on dissolution. Cash realised from assets was Rs.
2,00,000 and Cash paid for liabilities was Rs. 40,000.
(iii) General Reserve appearing in the Balance Sheet was Rs. 20,000.
(iv) Sundry Creditors amounted to Rs.15,000. These were paid at a discount of

2%.

GROUP -C
s -q

Long Answer Type Questions (&Yer ST 9RaT )-
1. <Eied gaaei | 2a @ arel faf=1 =afeal ar vl &1 auie o |

State the various persons or groups interested in accounting informations.

2. TRIIH JAROMST H 3T RT FHSII &8¢ fh<dl gig &1 guid By |

What do you understand by Accounting Concepts? Explain any five.

3. TAMGRI ARAT W MY RIT FHSA 282 ATIHRI ARAT UG 39D 41 & R Pl
IgSE DI |

What do you mean by ‘Not-for-Profit Organisation’? Explain its features and
distinguish it with a “Profit Making Organisation”.

4. e quaE ugula ¥ 3Mu &1 Fos 8 ? [ B ugyla ud fhwd yurdE
TeYfd § IR W B |



(What do you mean by Instalment Payment System? Distinguish between Hire
Purchase System and Instalment Payment System.)

. TR 9 TR faare & 921 vd e @ i &1 9arsy |

State the facts and decision of the court of Garner Vs. Murray case.

. 3R ol 9 U @M Bl Ug R o | AfeR—Yed 25 A Ui e & R a1
JAqq BT Rs. 21,000 8| UAP Y B AGBR AR Pl Tl dAF qul H
safeiRed fHar &1 |dbdl 1 QT seard & HRU [HAl a9 <EaH v
MAHR—em @1 RN HH B AT a1 Ay gsarat I3l S rgurd # 9 9 @
<A PR BT HH R QA ST | 2016 H A9 A8 b Y gsara off |

Amar Ltd. took a mine under a lease. Royalty is 25 paise per tonne and minimum
rent is Rs. 21,000 per annum. Shortworkings is recoverable in next three years. In the
event of strike, if the actual royalty was less than minimum rent, then minimum rent
was to be reduced proportionately to the length of the stoppage. In 2016 the
stopage (strike) was 3 months.

ITe 71 TR ofT- The output was as follows :

CL| Sares (41 %)
Year Output (tonnes)
2012 10,000
2013 70,000
2014 95,000
2015 1,15,000
2016 75,000 (Strike)
2017 1,25,000

IR 1. @7 g&Il # 3aedsd W 918y |
Prepare necessary accounts in the books of Amar Ltd.

. faftT =1 v w9 fdRmn %3 deyfd R Rs. 10,000 ¥ 6 DI | fBREAT HI oI BT
YA fbar ST or—

Vipin purchased a machinery on hire-purchase system for Rs. 10,000. Hire
purchases price is paid as under:

Rs.
UX (On Delivery) 2,600
UIH a9 & 3T H (At the end of first year) 1,600
fgiig ¥ @ 3 # (At the end of second year) 2,500
T 99 @ 31 # (At the end of third year) 3,300

THE eI W 10% Ui o &1t 2 a1 Sudad fawdl § enfid © | Wi W) HArTd
g fafr 9 10% ufd av sforRaa fear Siran 21 e g Marfey &Rk famn

g DAl Bl &Il H 3MaeId W I8V |




Interest on cash price is 10% per annum, which is included in the above
instalments. Machinery is depreciated at 10% per annum on the reducing
balance method. Calculate the cash price and make necessary accounts in the
books of Hire-Purchaser.

8. A, BT C WRIGR &, Sl oM—8I &I %L 1/2, 1/3 T 1/6 & rgard # fafora
@A ¢ | 31 A/, 2018 BT SBH WIRERI BH QT H1 &1 ok form | 56 fafy
R %H &7 Refd—faaror =1 gerR ar—

A, B and C are in partner sharing profits and losses in proportion of 1/2, 1/3 and 1/6
respectively. They decided to dissolve partnership firm on 31st March, 2018 this date
the Balance Sheet of the firm was as follows:

Balance Sheet

(as on 31st March, 2018)

<1ficd (Liabilities) SIfRr et (Assets) RN
(Amount) (Amount)
fafder @¥<R (Sundry Creditors) 25,000 | §& # Awe (Cash at Bank) 5,000
MsRAG W (Contingency 6,000 | zfcrr (Stock) 6,000
Reserve)
USh @ (Capital A/cs) : 3R (Debtors) 15,000
A 19,000 g fdet (Bills Receivable) 1,000
B 10,000 29,000 | wef=T (Machinery) 10,000
3re<l <49 (Outstanding 5,000 | 9R=R (Premises) 25,000
Expenses)
C @1 sit (C's Capital A/c) 3,000
65,000 65,000

N ON

TRl | EfoRad agel g8—

gR¥R Rs. 30,000, 7RI Rs. 8,000, Y&fAT Rs. 5,000, TAER Rs. 12,500, YT ol Rs.

500, TAT(T BT Rs. 4,000 % ST AT | S&RI §RT I 1A & YA UR Rs. 500 Bl
ge 4 E | A I Rs. 500 AT | FAIA & I &fd & S1d &I Rs. 10,000 HT
I fhar | Siafd s9a [9%ey qedadl 9 Rs. 9,000 & AR Aigg ol | a¥gel
G, ASIERT BT Yol @rar qoi 9 @I 9418y |

The assets realised as follows: Premises Rs. 30,000, Machinery Rs. 8,000, Stock Rs.
5,000, Debtors Rs. 12,500, Bills Receivable Rs. 500. The goodwill was sold for Rs.
4,000. Discount amounting Rs. 500 were allowed by creditors while paying their
claims. The expenses of Realisation amounted to Rs. 500.

During the course of dissolution a liability under action of damages was settled
for Rs. 10,000 against Rs. 9,000 was provided in the books of the firm.
Write off Realisation Account, Partners’ Capital Accounts and Bank Account.



9. ABUICUS BH ¥ ARIEGR I Sl AM—2I & 9o 3:2: 13 Jgurd § dad
o | fdaes @ f[fr R anfdie g1 71 UaR on—

A, B and C were partners in a firm who shared profits and losses in the ratio of 3 :
2 : 1. Following was the Balance Sheet at the date of dissolution:

Balance Sheet

Liabilities Amount | Assets Amount
Capital Accounts:
A 3,00,000 Goodwill 1,40,000
B 2,64,000 Plant 3,00,000
C 1,80,000 | 7,44,000 | Investment 80,000
I.F. Reserve 30,000 | Stock 3,20,000
A’s Loan 32,000 | Debtors 60,000
Mrs. A’s Loan 20,000 | Less: Provision 4,000 56,000
Creditors 74,000 | Cash at Bank 4,000
9,00,000 9,00,000

iRk @=¢ (Additional Informations)
(i) A+ RFENT &1 e 9 | 25% 31f¥e Jed W for |

A took over investment at 25% more than book value.

(ii) B Rs. 20,000 % <ASRI &I Rs. 16,000 H o1 Ud WY &Rl H Y&IHII Hd

BT 75% I §AT |

B took over debtors amounting to Rs. 20,000 at Rs. 16,000 and remaining
debtors realised 75% of book value.

(iii) Y&fT Rs. 2,36,000 H TAT TAUS Rs. 1,60,000 F 2T 737 |
Stock is sold for Rs. 2,36,000 and plant for Rs. 1,60,000.

(iv) 99l =9 Rs. 4,000 8Y| I8 urdl 1 fb &fd & fow <R Rs. 32,000 o,
FoTIepT YT febar ST o |
Expenses of Realisation amounted to Rs. 4,000. It was found that there was a
liability of Rs. 32,000 for damages, which had to be paid.

10.

JMIIYD WA TIR BN |
Prepare necessary accounts.

AT fol. 20 99 & oIy Uep WM Ug W ofl | OB R—Yed I &% 50 U7 Ufey e
g TAT =AH BRI Rs. 8,000 ufd 99 & | R o il 8,000 € A &9 B8R |
I gY B dgPR AR DI M MfalRgd FE fhar SREm den o 9y
JAAPR—eDh DI RN RATH PR F 16 R 39 9¥ 39 3Ma &1 dda 50
gfrerd & ager AR @ ufaRad wa & fory AT fhar SRR | ugeR oifAd
fo1. @ &Il ¥ s WA g5V Sidfe UIH IR auf &l el wHer 7,000
T, 14,000 €4, 15,000 2 3R 18,000 € T |

Amit Ltd. took a mine on lease for 20 years. Rate of Royalty is 50 paise per tonne.
Minimum Rent is Rs. 8,000 per year. S. W. of that year will not be recouped in
which yield will be less than 8,000 tonnes and the year in which royalty will be




more than minimum rent, only 50% of excess will be used for recoupment of
shortworkings. Prepare the necessary accounts in the books of lessee Amit Ltd.
when the yield for first four years respectively is 7,000 tonnes, 14,000 tonnes,
15,000 tonnes and 18,000 tonnes.



